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PATISSERIE CODE

PART TWO HINTS

¢ Word Hints

a. BEach of you needs to find what word you were given. The combination of all of them is
the code phrase that unlocks the next phase.

b. Each person’s word could be one of 1-6 possible words. Get each person to list out
their word options.

c. Leo’s choux spells: EAT.

d. Ray’s choux could spell: LEO, SAM, RAY, EVI, DEB, GIN.

e. Evi’s choux could spell either: BAR, VET, INN, SUD, RUE, SEA.
f. Sam’s choux could spell either: CAT, DAY, TEA, SUP, DOG, BED.
g. Deb’s choux could spell either: BAD, GOD, WED, PAY, DUE.

h. Gin’s choux could spell either: SPY, AMI.

« Grid Hints

a. You should have 3 grids to £i11 in. Find them all and put them next to each other.
b. Think of the grids like a crossword puzzle. Each square should contain one letter
and one letter only.

c. Words do not have to be read top to bottom, they could be scrambled within their
column. So DOG and GOD would have the exact same flavour, shell, icing and
decoration combination.

d. If you find a letter for a specific colour, then that letter will be in all other
squares with that same colour.

e. List out what shell, icing and decoration you have.

f. Find the grid that matches the inside filling you have. Your word will fit on this
column.

+ Questions to Ask Yourselves

a. Who else has the same filling as you?

b. Compare with whoever has the same filling as yous
i.  What are their available words?
ii. Do you have any other ingredients the same?

iii. Can you eliminate any of your possible words by comparing with the other
person’s possible words?

+ Code Hints

a. D can be found in all three fillings.

b. Without saying which filling it applies to, the letter ‘G’ has a Plain Shell.
c. Without saying which filling it applies to, the letter ‘U’ has White Icing.
d. Without saying which filling it applies to, the letter ‘L’ has Red Icing.

e. Only one of all the possible words that could be in the message has a double letter in
it. There is only one place those letters can fit on the grids.

f. Without saying which filling it applies to, the letter ‘M’ has Flower Decoration.
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